1967 4E R [ 2]

Q
M (x—a)® +(y —b)? =1 DA D AL (p,q) 7 D HICEERRZ S\ 2 & & ‘\
(p.a)

(p,q) 2° BHE £ TORBEL J(p—a)2 +(q-b)2 -1 TH .

A P(p,q) VXM A B,C DAERICH D & LT,

PR =p?+q2 -1 PS =(p-2v3)? +q2 -1, PT_ =(p—+3)2 +(q-3)> -1

PR 4+PS° +PT =p?+q® -1+ (p-2v3)2+q% —1+(p-+3)2+(q-3)% -1
=p2+q°-1+p?-4/3p+12+9% -1+ p? -2\3p+3+q> -6q+9-1
=3p2 +39% —6/3p—6q+21<36

p?2+02-2v3p-29-5<0 . (p-+/3)2+(q-1)%<9
L7=MoT, PIEM (x=4/3)2+(y-1)2 =9 DN H b, “DHED LT 5L,
D ol (+/3,1) & A(0,0), B(24/3,0),C(v/3,3) £ TOBMEF VTN E 2 THh D75, A B,CIEHDICHEELT

W5, £72. A A B,CHRIOHBI TN 23 THo 5, FA B, CIEERLARL,

P DIFEREPEIEI A B, C DA D DNE T 5 b A
HOMEECh 5, BEREEZ E0,

A

mfElY 732 -3xz-1°=67 - (%)




